QUESTION BOOKLET
This question paper contains 170 questions. / ¥ ELERE]

All questions are compulsory. / @t ygq afar % |

One question carries half mark only. / ws 7% 3 forq hael T IHE | r
Maximum Marks : 85 37Ty 37 : 85

Time : 2 Hours AT 2H0e

71709 & |

1.  With respect to a network interface card, the term 10/100 refers to

(A) protocol speed < (B) a fibre speed

(C) megabits per seconds (D) None of these &
T e STTHY TS % Ty §, 10/100 9E & I & =
(C) T =TS Ui e (D) T8 & IS Tel

2. A hard disk is divided into tracks which are further subdivided into
(A) clusters (B) sectors: (C). vectors” (D) heads
T BTS fomh ! o 1 i UG8 s feRam ST @

(A) FTI (B) (D) =M

fe conditioning stage ?

(A) A uniform negative charge is pladedie
(B) A uniform negative charge is placed on
(C) The corona wire places a uniform positi
(D) Allof these | _
e STt BRIk T 3 ST W SR 1 A1 & ?
(A) SYR qX THEHT SRUITcHsh Y W@ ST § | T
(B) TRRTRIEAE §H T THTAM M ST TG 9T & |

(C) AT AT AT T T eATeh ST T 2
(D) @& &l ‘

@photosensitive drum
gharge on the paper

4. What product is used to clean smudged keys on a keyboard ?
(B) Silicone spray

(A) TMC solvent 1 N 1
(C) Denatured alcoho -purpose cleaner
i ﬁﬁﬁmﬁ%m%ﬂwﬁaﬂwmm% 5

Feiqeet 6 el 4 )
(A) TMC feretr (B) faferpia =
(©) Forpefiepa weenlee (D) weigeafi iR
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10.

The mouse pointer moves erratically, What is the possible cause ? The

mouse _
(A) ball is dirty (B) is not connected

(C) driver is not installed propefly (,D) has an incorrect IRQ setting
I g e ——— AR SRt B R ke RIS

(A) HACTIR | (B) FeTganTEiR |
(C) e we als & afEma T ¢ | (D) HIRQ = T TE ¢ |

What command is used to reset a MODEM when using the “AT Command Set” ?

" 59 “AT Command Set” ITaNT 31 T 2, © MODEM % gHedid % o

fora gwe 1 ST g | ? | |
(A) ATZ B) DTR (C) ‘ATR (D) DCE
In Inkjet technology the droplets of ink are deﬂected by
(A) multi directional nozzles (B) electronically charged plates
(C)_ high pressure plates * (D) electrostatic absorption
ShoIe a1 o, el % g AR g € -
(A) sgicRepaee (B) oI AR ©ie
(C) SETEWRE (D) TRrdga sEmym
Which provides the fastest access to large video files ? |
~(A) EIDE hard drives ' (B) 'SCSI hard drives
(C) IDE hard drives. P (D) Optical drives

= @ o o A wree # Aot § AR YEH FEIE 7 .
(A) EIDETEEEA (B) SCSITEER(C) IDETERT (D) Al 3

RS-232 is a standard that applies to . - _
(A) serial ports (B) parallel ports (C) - game ports (D) networks

RS-232 IS AT R E |
(A) FiERE (B) @A EH (C) WAgR® (D) S

Which help prevent power surges ?

(A) Surge suppressor (B) Spike protector

(C) UPS system (D) -High grade multi-metre
Rree sieers & F= H 0 TeE BT §. 7

(A) v faaeh (B) TTEh W

(C) UPS wurredt (D) ¥=1 W AT -HIR

e i S—— — —— e, e 5
———
——
——— —— —
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11.

12.

13.

14.

15.

16.

17.

: Max'imum length of DOS command u

When is the risk for electrostatic discharge the greatest ?
(A) Daytime (B) Highhumidity(®) LOW humidity (D) Night time
fRR- e e 1 G T atfte; e €41 € 7

) RaFwm  (B) s=omm  (¢) FAYEA (D) THEHwH

What is a common language that computers us€ to talk with one another on
a network ? .'

(A) Client (B) Adapter

(C) Protocol (D) Operating systems

ﬁwmmm%mmmﬁw@amm%mmmﬁ ?
(D) aATRfeT foeem

W TR B T - () HE

In MS-DOS, what command you will use to displaiy sYstem'date ? -
- =13 =
¢A) Date command (B) Ver command ; Eﬁ%‘
(C) Disk command (D) Format command

MS-Dosﬁﬁmarﬂ@ﬁ@ﬁ%%ummmmmﬁ.?
fcr ARY (D) HiHE THICH

(A) STHATCH

. HHEXEMSE. T
sing any optional parameter is

(A) 26 characters (B) 87 characters (C) 127 characters (D) None of these
DOS AT 6 SR TS R Sepfeds ST 3 ST A B

(A) ssayds  (B) 7@ (O 127 G9ieh (D) 8 A B 8l

In Unix, which command is used to remove a file ?

Unixﬁmaﬁaﬁ%mﬁﬂmwm'@m% ?
(A) remove (B) mm (C) mv (D) del

The agency that sits between the user and the UNIX system is called the
(A) logic (B) profile ¢(C) shell (D) None of these

@mﬁma’rgﬁﬁaﬂtwmm%mmamé
@) wfm @ T O R (D) T A HE

sed for remote terminal connection service ?

What TCP/IP protocol iSU .
{egzﬁqaﬁﬁuqamﬁaﬁqmmp/mhmmam% ?

() UDp (B) RARP (C) FTP ¢D) TELNET
——"§ Code No. : C-707/2021/Serles-A
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18.

19.

20.

21.

@) Transport and session (D) None of these

Which command is used to create 2 Linux installation hoot floppy ?

(A) mkboot disk (B) bootfp disk

(C) ww and rawwrite (D) dd and rewrite

e Linux SRETH gz weiid) 3 G o 110 Fg ey o1 3l & € 7
(A) mkboot disk (B) bootfp disk

(C) ww 3R rawwrite (D) dd 3R rawrite

What command do you use to create Linux file systems ?

T Linux WTge Sreh 3 gort 35 e R a1 g 3w I 7

(A) fdisk (B) mkfs (C) fsck (D) mount

Which layers of the OSI model are managed by a network protocol such as
Microsoft NetBEUI ?

(A) Network and transport (B) Physical and data link

OSI Tiee B B H W Fead MewwTe g qeew gt § — S AR
NetBEUI ? .

(A) Waﬂw&aﬁ (B viif 3k ariwe w
(C) e T (D) FHAPRTE
A Trust Relatibnship ' |

(A) is created using server manager for domains

¢B) is an administrative and communication link created between two
Windows NT Server domains . |
(C) can be created between Windows NT W/s computers

(D) None of these

(A) <o 3 fore wet AT & ST & g B € | o |
(B) o AT T SR S Q) Windows NT Ff SF o e G g
(C) WindowsNTW/swraﬁmqﬁmamél .

(D) sﬁaﬁéﬁ

Code No. : C-707/2021/Series-A 6



22,

23.

24.

25.

26.

What is the term used for describing the judgmental or commonsense part of
problem solving ?

(A) Heuristic% (B) Critibal .. (C) Value based (b) Analytical
ST BT 8 ?

(4) 9y (B) i (C) Hed i@ (D) ﬁ?éwm

Visual clues that are helpful in computer vision include : %
(A) colour and motion . (B) depth and texture (=
(C) height and weight ¢D) Both (A) and (B)

7 ST WO oY wewr d €, § i 8
(A) TIARTM  (B) Tewssinamm(C) o iasd (D) (A) iR (B) SR

If a robot can alter its own trajectory in response to external conditions, it is
considered to be

¢A) intelligent (B) mobile (C). openloop (D) non-servo

Ife T Asile ST IRRARET & wror 3 Tiuy i 9ga o @ @, 39 7=
e o6 98 2 S

(A) Feggm  (B) Fhe@ (C) geie (D) gwErt

An Artificial Intelligence technique that allows computers to understand
associations and relationships between objects and events is called

(A) heuristic processing (B) cognitive science
(C) relative symbolism (D) pattern matching

@mﬁﬁﬁmémamﬁﬁwﬁﬁa@ﬁaﬂtmaﬁ%méﬂﬁ

= oz & GEEF Bl 8, FEA & - ,
(A) s (B) v e (C) aer wikfrear (D) Wiy e

What is the name of the computer program that simulates the thought

beings ? .
I();Sce:lslii:: llle;lgl?: " (B) Expert system
(C) Personal information (D) None of these
Wmmmmm%sﬁﬂﬂﬂﬁﬁﬁmaﬁmsmmé ?
(A) T (p) ferdem womed (C) A S (D) ¥ A B T

———— — —— —— T— — —— —
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27.

28.

29.

-30.

31,

32.

A report generator is used t0

(A) update files (B) print files on paper

(C) data entry D) All of these

T fearé if 3w g @

(A) HR e (B) mTer Wt wfyeht 5

(C) 3wl wfufd (D) F\mfi

Which is not a logical database structure ?

(A) tree B) relational  (C) network  ¢D) chain -
TR Y T U AT 3t G0 TR & 7

(A) & (B) Waww@  (C) e (D) F@en

Which language is used by most of the DBMSs for helping their users to’
access data ?

(A) SQL | " (B) Query language

(C) High level language (D) 4GL

AT SRR Y sttt v & Teg % T Seeret DBMS & g S Hl- 9T
1 I9A fRaT ST R ?

(A) SQL (B) ®bwm  (C) 3= g Wil (D) 4GL

A tuple is equivalent to a :
(A) record (B) field (C) file (D) database

(A) @ (B) & (C) wfewah (D) sT=d

A top-to-bottom relationshii) among the items in a database is established by é
(A) Relational schema . (B) Network schema -

(C) Hierarchical schema . (D) Allofthese
@mﬁnﬁ%ﬁasﬁﬁﬁwmﬁwmé |

(A) YT ST (B) STIeTsFH ST

(C) wargshiva ST (D) "R

The language used in application programs to request data from the DBMS

is referred to as the

DML (B) DDL () Quaylnguze(D) Alof these
%ﬁmsaaamm%mmmﬁmwwwmwé,m
(A) DML (8) DDL (C) Falt W _ D g ot

Code No. : C-707/2021/Series-A 8



33.

34.

3s.

36.

37.

38.

An audit trial

(A) is used to make back-up copies

(B) is the recorded history of operations performed on a file
(C) can be used to restore lost information

¢D) All of these

T @1 e

(A) 1IN - mwﬁ%ﬁmﬁ%%u‘e’lﬂ%l |

(B) U T 3 T MU it a5y arfdreifaa SeE @ | -
) wwﬂﬂwwaﬁﬁmiﬁaw%mmmm%u
®) T | wft

' . (=133 =]
Controls of Data Communication deal with %3%
(A) the communication channel (B) the computer i
(C) terminals " (D) Allof these
31 R AT R SEE wEia

(A) g9 (B) €U (C) e (D) sasdt

Which is not an important principle for. evaluating the raw data for decision
making ?

(A) selection (B) pattern (C) average ¢D) overview
ﬁﬁﬁﬁw%mg@%%@m%%ﬁmﬁﬁwwnﬁa@ﬁmﬁ% 7
(A) = . @®) yew  (C) @@ - (D) SIEIC
The analysis and design of application systems are the responsibility of a -
(A) Computer operator (B) Programmer
(C) System Analyst (D) Data Entry Operator

firen 3 frvcmor 3fit fesimea i forigrd gt & -

(A) el SR (B) TR (C) 7 favdws (D) %aqftm

Which is a brief message to an operator that describes what data are to be
entered ?

R 221 ) ST O B % R TR@ S s m el dem FH AR 7
(A) Prompt (B) Passwords (C) MIS (D) Tactical

Data has to be before it can be converted into information.
¢A) processed  (B) transformed (C) changed (D) engineered

TR e sa d____ fFaSmmg |
(A) W |, (B) WY@ (C) ufafdd (D) hwftm

—— — — —
—
—
—
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39.

40,

41.

42.

43.

Encryption is being used primarily with

(A) file retention (B) transaction entry
(C) computer processing  _ ¢D) data communication
TG < I Syrerfives i o g A1 B &

(A) Wrget feem (B) frmameremy ufafe

(C) wHrg wakm (D) €&

A key verifier machine is used in controlling

(A) transaction entry (B) data communication
(C) computer processing (D) None of these

T ) were Wi 1 3w 38 Pl w5 & fo g

(A) Tsramremy wfaf (B) TN

(C) F A WHAT (D) 3 BT T8l

The primary tool used in stru'ctured designis a

(A) structure chart @B) data flow diagram
(C) program flowchart _ (D) module

wrerfires gt Rt aefra fosiga § 94 g @

(A) Ttfa =i (B) 3 JATE ARE

(C) YW WEEIE | (D) e

In Prototyping |

(A) BASIC is used (B) COBOL is used

(C) 4GLs are used (D) System is documented
st | .

(A) BASIC ST IR | (B) COBOL ST gl ¢ |
(C) AGLs JRTEMIE | (D) @ W@ B & |

Data Definition Language (DDL)
(A) describes how data are structured in the database

(B) specifies for the DBMS what is required; the technique used to process data
(C) determine how data must be structured to produce the user’s view

¢D) All of these

3tTerer gfeuTsn s (DDL)

(A) aﬂhm%ﬁ?%ﬁéaﬂuﬁémﬁmﬁﬂ&ﬁmm% |

(B) 221 T hl Tehtieh Pl DBMS )t iy 1 @ Iewiiga B R |

(©) et e 2 o e 3 Fover T R TSR 1 S foen o |

(D) F&al

— —
_...__.____—_.-_—__._—_—
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44.

45.

46.

47,

48,

Problem analysis is done during

(A) system design phase (B) systems analysis phase
¢C) before system test (D) All of these
e &1 faveran 9% IR e s 2
(A) T IR ST (B) = fergeraon s
(C) T TE & TE (D) Fad
Top-down programming is
(A) a group of related ficlds
(B) a map of the programmer’s view of the data
(C) an approach in which the top module is first tested then program
modules are added from the highest level to the lowest level
(D) None of these
yitd—urg S @ %
(A) Gald S FITH IR O
(B) &1 TN % Framl =1 Wi |
(C) @aﬁwﬁﬂﬁsﬁémﬁﬁéwm%ﬁﬂmm#m
A P T s ST IR | |
(D) 3T & IS &l
Which is not a tool for Application Prototyping ?
(A) Application generators ¢B) Third generation language
(C) Screen generators (D) Report generators
< T TR IR 1 ¢E T & ?
(A) ST S (B) et digh =6t wm
(C) whm W (D) femeafer
An example of 2 hierarchical data structure is |
(A) array (B) link list (C) tree ¢D) All of these
TR atfme] B Pl o |
(A) wof @) FE - (O W - (D) TER
. : . chart to represent a calculation task ?*
Hhich symbol 1s used 1n @ flow (-C)pProcess (D) Start

(A) T Qutput
m%%l;ﬁmﬁ%%mﬁﬁaﬁmmwmﬂ@m%?
A) By ®) fyfa (C) WsH (D) WR¥

—— —

— -
11 : Code No. : C-707/2021/Serjes-A




49,

S0.

S1.

52.

53.

54,

Structured programming involVC?_> - o
(A) decentralisation of pmgramam“ty (B) functional modularisation

(C) localisation of errors ¢D) All of these -

wUfera s o it @

(A) Srom iR & REAFT (B) Sehraterss Aieeeo
(C) Ffedi =1 wrfisr (D) =i :
Which is not considered as a tool at the system design phase ?
(‘A) Piechart (B) Data-flow diagram
(C) Decision table (D) Systems flow chart

A P g A A, T e b F A 2
(A) WE-9°  (B) [WERINE(C) ffaai (D) & T

RAM is also called as :

(A) Virtual memory ¢B) Volatile memory
(C) Non-Volatile memory (D) Cache memory
RAM i g *ft &gl S 2

(A) smmhgl (B) sfRReEh (€ Rreft (D) FEHW

Cache memory acts between

¢A) CPU and RAM (B) RAM and ROM
(C) CPU and Hard disk (D) All of these
ST EH TAFE SR

(A) CPU 3R RAM (B) RAM 3t ROM
(C) CPU 3 T8 fs&h (D) =@uf

A programm used to detect overall system malfunction is
(A) System diagnostics - (B) Utilities

(C) System analysis - . (D) System softwarel
e S ) Ul o o TeEfed hi i care

A) @fem  (B) @@ (C) TR (D) T HiTeRR

An adder in which the bits of the operands are added one after another is
¢A) Serial adder (B) Half-adder (C) Full-adder (D) None of these

s T R T 3 g 10 % W1G T S!S & | |
(A) wimdes (B) dd-aww (C) qui-@W% (D) THARE T

e ——— — ——
N e s —— —
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55.

56.

57.

S58.

9.

60.

- ““-—-~....________________,_.—-—-——-"""""_ 13

FRIR S QIS T E

The time taken for the
e e cad/wri ad to move to the correct
mammetic disk is called write he track on the

(A) Approachtime(B) Seek (ime  (C) Epoch delay (D) Latenc

_ . y dela
Rcad/u:mcﬁﬁmmﬁa@mm@ﬁm&aﬁmﬁmg
(A) 798 (B) wWNmmg (C) TR faerE (D) i@ frema

A programme language

(A) is never machine dependeny  (B) is always machine dependent

(C) deﬁpcs the form of the instruction ¢D) All of these

T TR 9TST

(A) PR Wami@ adiget (B) w0 A W 3w & 8

(C) Mens R oty (D) Fwad H5E
. &

What key hardware item ties a CAD/CAM system together ?

(A) Mouse ' ¢B) Graphics workstation

(C) Digitizer (D) Plotter

& 91 ! BTEaTR 31320 CAD/CAM o3 ! |1 T@AT1 & ?

(A) 9139 (B) uifhswREE(C) fefersst (D) anﬁ@m

Which is a graphical input devices ? _
(A) Lightpen ~(B) Track ball ¢C) Mouse (D) Keyboard

7 @ T T WMihehet fraw IR 7 |
(A) S (B) $FIAW (C) #=E (D) HiarE

The two major categories of software are : application software and -
(B) High - level language

A) UNIX software
EC)) CAD software ¢D) System software
7 — U1 "R 3R
(A) UNIX @reaa(B) =7 T0F NI (C)  CAD WS (D) - T HIHSa
: lity graphics reproduction ?
Which produces the best qua . ductic
(A)chgtrmatrix printers | (B)  Ink jet printers
(D) Plotters

- (C) Laser printers ol 7

T Y i g TP A s
(&) wtpmaia® e © (D) Jme

T Code No. : C-707/2021/Series-A



61.

62.

63.

64.

65.

The user communicates directly With the computer through its peripheral
devices is known as

(A) On-line processing . (B) Remote-terminal processing
(C) Batch mode processing (D) Intelligent terminal processing
wfefra 7 & gro e 3w @ HiY HaTE e 3

(A) S-S THA (B) g efifaat werm

(C) ¥ WS WHAw (D) afim fifer oA

The electronic component that has been the key to recent developments in
automation is the

(A) transistor . (B) diode

() integrated circuit (D) improved vacuum tube
AT ¥ 87 1 T1e B i 3 T 3ot e hl ged i 8

(A) R (B) SHIE (C) THFauiEy (D) I~ SH-H &

Which is considered a high level language ?
(A) FORTRAN (B) Machine language

- (C) Assembly language : (D) All of these

frY 39 WA AT AT AR 7
(A) ®IgH (B) wefRumr  (C) Hisaw ¥ (D) Ig &l

Actuators are used to

(A) sense an object (B) make a mechanical movement
(C) activatea chemical ¢D) All of these

S 1 SUENT 61 ST @ $6e T

(A) G P (B) AT et

(C) TET I Al HH (D) Fadft

An OR gate can be imagined as
(A) switches connected in series (B) switches connected in parallel

(C) MOS transistors connected in series(D) All of these

TF OR g AN A T THATE -

(A) faen i g & & (B) WA g1 §¢ e
(C) sEen#i g g™MOS gt (D) 7g afl

e —— — —
—— ———
———
— — —
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. C ' i :
66 ﬁonversu.)n of binary Number (101101), to hexadecimal is
e (101101) 1 Yrey amomd § FEeH W -
A) Ge @) @p. E
| D)6 (C) 2E) (D) (27)46
67. What logic function ig : : :
prody dding an inverter to each t and th
outlj:slt\I of ;1; I;ND gate 9 ced by adaing ‘ input and the
‘:ﬁfn‘% ?D Rmﬁéﬁhm@ﬁﬁﬁﬁg%ﬁmﬁqmﬁwm
(A) NAND  (B) Nogr (C) OR (D) XOR '
68. Flip-flop outputs_afe always B :
(A) the Same : (B) independent of each other
© SAME as mputs: 3 (D) complimentary '
feea-wara fim gosm 2R 8
(A) AR (B) THGEUYNEH (C) AT %€M (D)
69. TheASCI | | % |
(A) is a subset of 8-bit EBCDIC =
(B) isused only in Western Countries
(C) has 128 characters, including 32 control characters
(D) None of these '
ASCII ‘ :
(A) 8-bit EBCDIC H1 TH I E=AR |
(B) “herer ufver @it AG I AR |
(©) sl 128 Fyielieh 2, Rt 32 o el & |
(D) 3 & I3 el
0. The Gray code for decimal 7 is
Tmer 7 % FrC A R R
R @) 1011 (C) 100 (D) 101
. : carrying digital signals.
&l;“iv'ls a group Ot; B) gates (C) transistors (D) registers
res ~ GaT
T g il fefse e wﬁm‘ - e
(A) "‘"('1'3') 2 ©) (D)
T ———"T15 Code No. : C-70712021/Serigs 5




72,

73.

74.

75,

Which logic families has the highest noise immunity 2
B A e g i Sen T ST & R
(A) RTL (B) DTL €C) TTL (D) HTL

A self-relocating program is one which

(A) cannot be made to execute in any area of storage other than the one
designated for it at the time of its coding or translation.

(B) consists of a program and relevant information for its relocation.

(C) can itself perform the relocation of its address-sensitive portions.

(D) All of these :

Teh W -JAUEEIT9 ST 2 S

(A) %wﬁmﬁwﬁmmmﬁmmﬁ%ﬂﬁ
TS & gry i foear mam o | i

(B) & ST SR GrRrae o foTe Heiftr geemd gt € |

(C) I8 T 3T9AT IaT Tt I AT o Thal & |

(D) =g @t

A compiler for a high-level language that runs on one machine and produces
code for a different machine is called

(A) optimizing complier (B) one pass compiler

(C) cross compiler (D) None.of these

Teh HheTsh Sl Ueh o9~ i WINT i Teh WA 90 =eltal & 3R gadt wefis 3 frg

e 4T AT 8, IH FHaEd &
(A) sEaH! Ghere | (B) Tshel AT Hehereh
(C) g IaTH (D) THAFETE

Multiprogramming was ‘made possible by
(A) input/output units that operate independently of the CPU

(B) operating systems

¢(C) Both (A) and (B)

(D) None of these

TEPRATCTA HE §3TT 38 g

(A) 3T /fnta TS St CPU & 370 19 % 8
(B), U=ITeH &3

(C) 3mi (A) 3R (B)

(D) 4 A HE T

Code No. : C-707/2021/Serics-A 16
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76.
(A) Debugger (B) Editor () Spooler
¥ T AT AT TG 8 7
() feam (B) TR (C) FTH (D) Tt
77, Bug means
: (A) A logical error in a program
(B) A difficult syntax error in a program . |
(C) Documenting programs using an efficient documentation tool
(D) All of these
a1 1 3ef @ | | :
(A) T T & U qehEd 3f - %
(B) T A wiA T IR | =
(C) TH 3= TG gl g TR 1 TG
(D) Jg ol
78. An algorithm is best described as
(A) A computer language
(B) A step by step procedure for solving a problem
(C) A branch of mathematics -
@) All of these :
.@wﬁﬁm‘aﬁmaﬁhmmmﬁ o |
(A) e GUTeh TSI (B) THEIT GHTHT <hl SUTag SisRAT
(C) T ht T W@l (D) w8 aHi
79. The name of the location of a particular piece of data is its .
(A) Address  (B) Memory name(C) Storage sites (D) Data locatio
n
T a1 3 Fapelt R fer) 3 T 61 AT T & T
(A) @) | (C) ERUwE (D) I wWH
80, - . .
Remote processing and time sharing was introduced in which generation of
:RmPUters ?
) First (B) Second (C) Third
‘ - ¢D) Fourth
?};“;:’T aﬂtmggqmﬁﬂﬂ?ﬁ*mﬁm&m%mw ?
@ fm O T (D) =g

Which program is not a utility ? :
(D) All of these




81. To go to the begmﬁmg of a text line press

¢A) Home (B) Pageup (C) Enter (D) None of these

Wﬁm%mmﬁmﬁ%ﬁ“’!ﬁ%@ﬁ%

(A) Em B) ™I (O ™ (D) THAHE T
82. The most frequently used piece of hardware for inputting data is the

(A) keyboard (B) floppy disk (C) cursor (D) software

21 iafd & e gea wame) ST B AT ered e

(A) =i @®) wffEE  (C) W (D) WiFAH
83. Built in memory of computer is

| <hl feree-37-2m1d 2

(A) EROM (B) ROM (C) RAM (D) PROM
84. What type of device is a floppy drive ?

(A) Input - (B)  Output (C) Software ¢D) Storage

ATt gred fore YR Fi v Rag R 7

(A) ™ (B) fwim (C) §Ram® (D) ¥WSRW
85. Main circuit board of a computer is called |

(A) Father board (B) ‘- Mother board(C) Keyboard (D) All of these

Teh e 3l & Hithe IS FHgardl & N

(A) wEE (B) WREE  (C) HEE (D) Taf
86. Series of eight bits is called

(A) Bit =~ (B) Byte (C) Number (D) Kilobyte

311a fore 61 sjEen Feamdl & : |

A) fae (B) dTse (C) =R (D) Treitemee
87. Toworkona éomputer mainly, we need _

(A) hardware (B) software

(C) scanner, (D) Both (A)and (B)

HEE T HM HA & (A J&Aa: v &

— —
e e e e e e s
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88.

89.

90.

91

92,

93,

%4,

oracle is a

(A) An operating system cessor
) Dz_lgtabasc software (g) x?gdf[t?lzgse
Oracle 8 Tsh

In which topology, network com d by onl ble ?
) onents are connected by only one cable ¢

(A) Slﬂrv - (B) Ring i nené)'l Bus (D) Mesh

o 2ol 3 SITCTmH 92 O o ey 3 g2 B # 7

(A) €T (B) fmr . (C) =@ (D) ==

Which c-ievices are used to transmit data over telecommunications lines ?
(A) Drives (B) Drivebays (C) Modems (D) Platform
R ST O S HIvT 3 for ey fearem 1 ST fobart 1o @ 2

(A) 3= (B) w3 (C) wiew (D) wieHH

Which software program is used to view web pages ?
(A) site (B) host (C) link (D) browser
99 U1 @A % T fore wiveaeR o w1 sw@m g @ 7

@' hn@Ems.fn™ O™

If your computer keeps rebooting itself, then it is likely that
¢A) it has a virus .(B) it does not have enough memory

(C) there is no printer ' (D) there has been a power surge

T SATIehT R T E e HT1 & 3 T gwh 3ref 7 foh EE
(A) THH IRRE ® | (B) 3uH yaiw wfa 78 & | E‘I%
(C) & RiexTE & | (D) e aTg e R | |
Which of the following tell us about used and free space available in a computer ?

(A) My computer(B) My document(C) My briefcase (D) My search
@Eﬂ%:%ﬁmmggaﬂ 7R foraaT @Tell T /At 8, 398 @ S Saral 2 7

(A e (B) g eiEe  (C) "WEsfihew (D) #iE o

In MS Windows, text and graphics that have been cut or copied are stored in

an area called the _
(A) Paste board (B) Copy board €C) Clipboard (D) Cutting board

MSWindowsﬁ'mﬂgﬁWﬁ%mﬁﬁtﬁmW%aﬁﬁq /3 3

e —




95. A symbol on the screen that represents a disk, document or program that you

can select is called _
(C) Caps (D) Monitor

(A) Keys @) Icon | .
Gﬁqm@mﬁ%@%ﬁ,@ﬂ@?mm%aﬁﬁm%?ﬁm.

I HTThd &

(A) @ (B) :msﬁ (©) & (D) WX

" 96. In which year slide rule was developed ?
wTse T fomg o o s TR AT 7
(A) 1694 ¢B) 1801 (C) 1627 (D) 1620

97. A type of instruction that can produce several lines of machine language code isa
(A) mnemonic - (B) address ¢C) macro (D) assemble
T W 1 1631 <7t 7efi 9T e o 3 S1S ST Tohal o
(A) TFF (B) T (C) #ht (D) HISTeol

Whereas a compiter mouse moves over the table surface, the trackball is alWays

(A) stationary (B) difficult to move -
- (®) moved in small steps

98.

(C) dragged
I (eh T FHPEL HISH 2ot Haig T =erl &, AT dehaTeT U EaT § -
@) Rr - (B) e A g i
(C) feram (D) BR-BR e & s

99, Primary memory is divided into how many parts ?
wreftres Bt @1 e Wil A i ST g ?
(A) - Two/al (B) FourAR  (C) Six/® (D) Eight/aTs

100. Octal numbers are used |
(A) when binary numbers are too long (B) in computer hardware

(C) internal to the computer (D) None of these
(A) T fament SEd S e e g |(B) HPAR TS |
(C) P % Il (D) T 4 I TE

— —
—
———
—
— — t—— —
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101. The system software js insta] _
1 , when you install t
(A) Antivirus ed on your computer, v you install the

(B) Operating system
T FIIE T G D) All of these
LA | leaqtmmﬁaﬁm%,aammm%

(A) W B) wrmdy () ReawagE (D) Twwd

102. All the time a computer js gy,
stay in

(A) main storage ¢B) primaw storage %
(C) floppy disk (D) disk drive

T A T PRI A &1 R o 30 srerrer o AT B Al

(A) TSR (B) Wi wigrw(C) i e (D) foew gd

(C) Device drivers

itched ON, its operating system software has to

103. Various applications and documents are represented on the windows desktop by
(A) icons (B) graphs (C) labels (D) symbols
et Seepeia Wl weftim s St R o
(A) IEHIE (B) 7% A (C) ¥&@® . (D) WA

104, In MS-Word, a major step before taking print of the document is

(A) to save the document (B) to set paper settings
(C) to see print view of document (D) Both (B) and (C)
MS-Word & STaiie g5 & Test U I& F1 & |

(A) TIPS I Uel HE (B) UUUh! | 82 w0
(C) efargiic &1 fie S g@ (D). g (B) 3R (C)

i ks given for
1 i an be used to keep track calculathn of marks giv
» hWhlch prlg g;acﬁeiording exam results and also for registers, etc. ?
oo (B) PowerPoint

E‘é; :IISV-I“'IIOKI _ ¢D) Electronic spreadsheet
-Mai
S oy 7o 3R ThET . ufm % it i ey @
w:ﬁmﬁ;;fm@ﬁmmmmmmmm% ?
et B) UERUTEE
(A) MS-Word ED; ENEIEE RS I
(C) E-Mail

“ T Code No. : C-707/2021/Series. A




106.

107.

108.

109.

110.

111.

In MS-Excel, getting data from a cell located in a different sheet is called
(A) accessing ¢B) referencing (C) updating (D) functioning
MS-Excel & gt ¥tz o flrd d ¥ 221 IR 41 whiwen waerel &

) sfmm (@) (C) e (D) SRS
To spell check in PowerPoint you have to go to which tab ?

(A) Insert ~(B) Review (C) View (D) Home
YTEATEE H e i & foe sl 6 8 wamn g

(A) 7= B) f=g - C) = (D) &M

How can you get your photo album on slide show to play continuously ?
(A) Use random slide transition (B) Launch an online broadcast
(C) Use loop continuously ' (D) All of these

Y YA B} ToaH ! 138 Y T AR f6a TR S god € ?
(A) =0 WS Sfem %1 S5 (B) T - HISHRL I IE HE
(C) 9 T TMER 39N (D) TEw ‘

It is better to use files than a DBMS when there is/are

(A) stringent real time requirements

(B) multiple users wish to access the data

(C) complex relationship among data

@) All of these ‘ _

DBMS 1 3TH&TT Hlgel i ITE S5 el & A g 8/

(A) T& TR HIeT ST (B) 3 SRR ST AW FEAT TR |
(C) 321 % 7T SAfeet gay (D) T@EHi

In MS-Access, a subset of characters within a data field is known as

" (A) record (B) file. (C) datastring D) byte

MSTAccessﬁ@%%%mmﬂw-ﬁgﬁﬁmw%
(a) f@ie - (B) WEA ©€) safgn (D) =

Several computers linked to a server to share programs and storage space in
(fA) network (B) !ibraryt f it

(C) grouping - (D) integrated system

o X § G S HPIEX NI S RO <hY A R & g

(A) RTH B) @@ (C) T (D) whigpa w

——
e —— s —
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112.

113.

114,

115,

116.

————

IP addresses are converted to - .
(A) a binary string | .¢B) alphanumeric string
(C) ahierarchy gf domain nameg (D) ahexadecimal string
IP T34 WEet ST & -

(A) Teamemd e - (B) 3R

(C) S T T TETHA (D) wrewamETd &

A search engine is a program to search
(A) for information

“(B) web pages

(C) web pages for spediﬁed index terms
¢D) web pages for information using specified search terms

el S O ST & 3 g o
(A) FEait 3 for ¢k
(B) awuw : |

(C) v eam ol & e iw

(D) TfPed a<l wel & SR W geat % e 3w i -

The code segment that misuses its environment is called a

(A) internal thief (B) - trojan horse (C) code stacker (D) All of these

FC TS S 3T AT 1 Qe HUdl B, FHETa 8 |
(A) arafw =R (B) e (C) T (D) I Tt

A combinational logic circuit ,that is used when it is desired to send data
from two or more source through a single transmission line is known as

(A) decoder (B) - encoder ¢C) multiplexer (D). demultiplexer
T Heitor s aiay fd I fmn < ¢, m@@mwaamag
I gl @ o7 S S i €, 39 ?h?ﬁ g

(#) gmw  (B) FES  (C) T (D) Fagdhen

Which is the most important feature of spiral model ?
(A) Quality Management (B) Risk Management
(C) Performancc Managemcnl (D) Efficiency Management

(A) o e () SifEn WaA (C) oI warem (D) &t e

———— S T — e . —
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117.

118.

119.

120.

121.

122,

The mechanism by which the data and functions are bound together with an
object definition ,

(A) Inheritance ¢B) Encapsulation(C) Abstraction (D)b None of these
U T o R g 21 3 TR il U g qivaren 3 g SiU1 ST 2

(A) SWgFR (B) FESHT  (C) 3InggH (D) 37 A 9 7

Which operation can be performed on data structures ?
(A) Data organisation

(B) Accessing technique

(C) Manipulating selection for information
(D) All of these

AT A= W vy yeeA B e s g @ 7

(A) TSI A=A . (B) AR 9
(C) 1< foTu 91 vei & o R (D) a8 oef

Where can yoﬁ find the horizontal split bar on MS-Word screen ?
(A) On the left of horizontal scroll bar

@(B) On the right of horizontal scroll bar

(C) On the top-of vertical scroll bar

(D) On the bottom of vertical scroll bar

MS-Word BhIH T 319 gl 9T &t e 9’ 1 T Heha & ? -
(A) &fes Bhte 91 6 7R 1R (B) &fow Bhict SR K it 3k
(C) SEATER Ghicl TR & FR (D) AR Thid 91 % Y

To save a document for the first time which option is used ?
(A) Save As (B) Savefirst ) Saveon.

- (D) Copy
TN IR STREE 99 1 % T 78 & e ferea sremim gan 2 ¢
(A) JaTH (B) WawE (C) &= A (D) it

Percentage of Urban population of Himachal Pradesh to its total population
as per census 2011 is |

2011 1 SFIIMT % STFAR 8.5, <6 wely Armt, oo Seen i whiver 2
(A) 9.8% (B) 10.03%  (C) 11.2% (D) 12.4%

Sex ratio of Himachal Pradesh was as per census 2011 is
SFTTUET 2011 < STTER 8.9, 1 i a1qum 2 |
(A) 972 (B) 976 (C) 982

Code No. : C-707/2021/Series-A
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Seer khad is located in which district of gimachal Pradesh ?

123.
¢A) Bilaspur ~ (B) Hamirpur (c) Una (D) Kullu
A A SN N -
(A) TeremEgt (B) ®&HRY (C) S (D) ee]
124. Minjar fair is celebrated at which place in Himachal Pradesh ?
(A) Kangra ¢B) Chamba - '(C) Mandi (D) Shimla
iR Ao R, & P MM Wy s 7 ' |
(A) HITST (B) W= . (C) w& (D) TRmen
125. Hamir festival is celebrated at which place in Himachal Pradesh ?
(A) Sirmour (B) Solan .| (C) Kinnaur @) None of these
R I Ry, & o M R AR S 2 2 . -
(A) R (B) e~ (C) TR (D) 38 & HIg Tl
126. Binwa is a tributary of which river of Himachal Pradesh ? %
(A) Beas  (B) Yamuna (C) Chenab (D) Satlej =
foran 1. <Y Temmr 1<} <61 wETarh G R 7 - .
(A) =8 (B) TG ©) = (D) waw™
127. Nako lake is lt;éated in which district of Himachal Pradesh ? _
- (A) Kinnaur (B) LahauI-Spiti (C) Chamba (D) Shimla
Wgﬁﬂ%.ﬂ.%%aﬁéﬁ@m% ?
(A) TR (B) Wi (C) = (D) R
128. The founder of Guler princely state of Himachal Pradesh was ’
(A) Datar Chand ¢B) Hari Chand (C) JaiChand (D) Vir Chand
Ry, &) er Rarad & T 2 | | |
(A) gamsg  (B) T (€ N3 (D) =iterg
129, The capital of Nurpur princely state was located at which place in Himachal
Pradesh ? ©) B D) Hal
(A) Pathankot (B) Naggar ‘ asantpur Halog
Wﬁama?ﬁmvﬁ%.ﬂ.%mmm%m f
(A) REHwR (B) M (C) =HdL (D) BT
Y AeRse B v
—— T 25 Code No. : C-707/2021/Serles-A




130.

131.

132.

- 133.

134.

135.

136.

The old name of Bharmour W83
(A) Biaspur @) Brahmpur  (C) Kirgram (D) Deorha

WTCHIT <1 WA A 41
(A) faamEgm (B) TEW (C) fam (D) AT

Which place of Himachal Pradesh is popularity known as ‘Peach Bowl of Asia’ ?
(A) Nalagarh  (B) Naldehra  (C) Sujanpur- (D) Rajgarh |
Ro.3. 3 e T ) o T @ “f e ori oftmr & T SIS ?

(A) TG (B) ATECEU (C) gIHY (D) e

Chamba Sewak Sangh was founded in which year ?
T 49 TY ) T R T S 7
(A) 1936 AD  (B) 1942AD (C) 1945AD (D) 1947 AD

Himurja hydropower projects work under which agency ?

frraatt Tafrstent GRET 1 Hr fora STfiveRt & fdia @ 7
(A) HPSEB * (B) NHPC (C) NTPC (D) BBMB

Army Training Command is located at which place in Himachal Pradesh ?
(A) Sujanpur  (B) Dakshai (C) Kasauli @) _ Shimla
77eft 3 e Ry em ke 7 |

(A) G (B) TS (C) et (D) . R

Jangi Monastery is located at which place in Himachal Pradesh ?

(A) Oachhghat (B) Kaza (C) Kalpa (D) . Recongpeo
s Ry FFTURRREE ? :

(A) Afgare  (B) FM C) w1~ (D) Fehrfisn

In a certain code language ‘MOTHERS’ is written as ‘OMVGGPU’. How is
‘BROUGHT"’ written in that code ? |
fepeft Fffrd e 1 § ‘MOTHERS’ 1 ‘OMVGGPU’ fore S R | geft e B
‘BROUGHT"’ ! f&ha s&R feran smam 2 ~ |

(A) CPRTIEV (B) DPQSIFV (C) DPRTIDV D) DPQTIFV

T e — — —
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{37. If Raju finds that he is 12 from the ght in a row of boys and 4" from the

(4) 11 (B) 12 © 13 (D) 14

138. Pointing to a woman in a photograph a man says : “She is the grandmother
of the son of my daughter-in-law’s mother-in-law”. How is the woman
related to the man ?

(A) Mother (B) Mother-m-law(C) Sister (D) Wife |
Teh HI2l H Ueh Higell i 3T ST T 5 Uk STGH! A @l “agﬂﬁag\a?rm%
S 1 I € |” g At 39 e & ey dafa @ ? g

(A) =T (B) 9™ - (C) =& (D) Ut [@

139. From his house, Lokesh went 15 kms to -the North. Then he turned West and
covered 10 kms. Then, he turned South and covered 5 kms. Finally, turning
to East, he covered 10 kms. In which direction is he from his house ?

(A) East B) West ¢C). North (D) South
TANRE 379 T/ 15 Foh.oft. I 6 3w, ﬁ;{qﬁa’nﬁaﬁ{w 10 fe. .
T, T gieror sht 3T gee 5 For. . mam | ofaw: qd <t 3R geent =18 10 f6..
T | 9g vt I i fpa e A g 2

A) o (B) ufvem (C) IW (D)

140. Which organisation is associated with waiving intellectual property
protection for COVID-19 vaccines ?

T Y B i T - 19 I F e Huer gean S arh) § gk 27
(A) WHO @). UNICEF- (C) WTO (D) FAO
141, A pew species of duck-billed dinosaur, Yamatosaurus Izanagii has been
recently discovered in which country ?
¢A) China (B) Greece (C) Japan (D) Indonesia
mmm%mﬁmmmmmﬁmmm
< 3 gy TR ?
(A) @) 1a (C) S (D) sSMRmm
-__‘h-—--_"'_"-—-

left, how many boys should be addeq to the rOW such that there are 28 boys
in the row ?

ﬁﬂwéﬁmﬁaﬁﬂﬁ%aﬁﬁﬁuﬂ%ﬁmﬁ%ﬁm% fere
ﬂﬁﬁ%mﬁmﬁﬁzgaﬁg{m ?

—— — —— —
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142.

143.

144.

145.

146.

147.

148.

As per the recent report released by the S & P Global Ratings, what is the

growth forecast of India in 20217 |
(A) 6 percent  @B)- 8percent

(C) 10 percent

(D) 11 percent

S & P e Y g Eel & 3 Y h 7 R S arget s Y ferehrd X 2021

o 1 Bl ?

(A) 6%Rwm  (B) 8@ (C) 10 st

The blood pressure is the pressure of blood in

(‘A) arteries (B) veins (C) auricles
=78 TN & TF 1 ¢ 8

(A) w ®) fm (©) et
Pea plant is a/an :

(A) shrub B) herb (C) tree
T 1 N1 8 T :

(A) (B) IH

(C€) ¥

Who invented X-ray ? .
(A) Rutherford (B} Roentgen
X{H @ FEr i ?

4) TEE () W - (C) e

Which metal is stored in Kerosene oil ?

(A) Zinc (B) Silver (C) Sodium
fra g R @ @i @ e 7 |
(A) & (B) =& (C) wifemm
The Gayatri Mantra is dedicated to which deity ?
(A) Agni (B) Marut «) Surya
e v for 3t /qaa s afia @ 7 :
(A) 3 (B) Hwd (C) ¥

Ashoka convened the Thrid Buddhist Council at
(A) Kapilavastu (B) Pataliputra (C) Rajagriha
s 1 fiatt 9 gfifa smrnfea 6

(A) wfiyeasg  (B) uwfag

Code No. : C-707/2021/Series-A 28

(C) Einstein -

i S—— —

(D) 1_1sri%rma \

(D) ventricles

@

- (D) orchid

(D) 3nE

(D) Baird

(D) ¥

(b) Gold

(D) @

(D) Savitri

(D) wrfesh

(D) Kushinagar

— —
T —— —
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149.

150.

151.

152.

153,

154,

The author of Sri Bhashya is |
(A) Kabir () Sankara  (C) Ramanuja (D) Nanak
oft 9TSH o TRl 8

@ F @ ¥ (¢ e O) T

The Sikh Guru who killed by the orders of Aurangzeb was
(A) Guru Ram Das (B) Guru A_Uun Dev
¢(C) Guru Teg Bahadur . (D) Guru Gobind Singh

firg 6 R oo SO S omem A gl el - ,
(4) TTEE  (B) ®IFW () wwmag (D) e Tifers &8

The East India Company recei{red the Zamindari of the 24 Parganas from

¢A) Mir Qasim . (B) Siraj-ud-Daula E5E
(C) Chanda Sahib - L (D) Mir Jafar . Ew%l
$& 3fea st 1 24 T <6t Sl firelt g -

(A) dRERm  (B) Ruw-3g-dmiy(C) sfg@mfes (D) HRSTH

‘Who was the First Muslim Rulerto conquer South India ?
¢A) Alauddin Khilji - (B) Muhammad Ghori
(C) Babar . (D) Aurangzeb

2fiur ST o S et T el WTE i o ?

(A) FeoEM Rgestt (B) WeRTG i

(C) =T (D) 3T

Satya'graha‘ Ashram was established by |
(A) Mahatma Gandhi - (B) Acharya Kripalani
(C) 1.P.Narayan (D) Vinoba Bhave

TR 3113y <6 TATOAT $7 g0 1 TS off -

(A) TEEn R (B) S FeH (C) WA AREW (D) ﬁﬂ‘mmé

Lotteries organised by the government of a state come under

(A) Union List (B) State List

€C) Concurrent List (D) None of these

TS HTHT gy St efiedt 3T & 96eh e

(4) ®aggt  (p) twgdt  (C) FEAGH (D) wH A FE T

——
—
—— — —— — —— — — — ———
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155.

156.

157.

158.

159.

160.

161.

The number of members Of the Constituent Assembly representing the
princely Indian States was o

G T § v famed T 61 ey w0 a8 gedl 6 9 o

(A) 60 () 70 (C) 80 (D) 90

The Supreme Court was set up under

(A) Pitt’s India Act (B) Regulating Act

(C) Indian Councils Act, 1861 AD (D) Indian Council Act, 1892 AD
HeT= AT <) ST 36 e g

(A) Tza e e (B) tgmfin uwe
(C) 3fewm wfie e, 1861 AD (D) 3fega HER TR, 1892 AD

Globalisation refers to the unrestricted and unfettered movement of
(A) Capital (B) Technology (C) Goods (D) All of these
Syt 1 37l R, R Reeft Qo2 % s o

(A) R (B) s (C) =mH (D) TEwd
The ‘Solar Corona’ mainly consists of

(A) Moltenlava (B) Cosmicrays (C) gases (D) ice
‘Fﬁt%ﬂ?’ﬁg@lﬁ?ﬂﬁ'ﬁ% .

(A) uenamar  (B) s fmw (€) M (D) =&

The layer of the atmosphere which provides ideal conditions for flying of jet
aeroplanes is | o

(A) Troposphere (B) Stratosphere (C) Ionosphere (D) Exosphere
STV %1 98 T Sl W gaTsorarell shi Sgak I9H T Iqskel 2 '

(A) @M Few . - (B) HANMHeN (C) AEAHSH (D) wiwwew

The 25" state in India was |

(A) Sikkim (B) Nagaland (C) Goa (D) Mizoram
T H 2591 Tea o1 . |

(A) Tafeen (B) AWM  (C) Tl (D) freirm

Salal Hydroelectric project is located in which Indian State/Union Territory ?
(A) Punjab (B) Odisha  (C) J&K (D) Karnataka
HeTel G ersTel! IRETerT I % ford Ta /Sganiée oo A fRm @«

. (A) U (B) sffem.. . (C) FH-FWR (D) wfew

. — ——
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162. India is the largest producer and exporter of
(A) Manganese (B) Bauxite (C) Copper (D) Mica
WA FHT HaTH g1 IeTe 3N Preyferes 3

(A) fh:ﬁﬁ. (B) EfTil‘xtnsz () (D) 3%

163. Antonym of ‘Aromatic’ is
(A) Tart (B) DlSagreeable (C) Soul (D) Odorous

164. One word substitution for ‘A person who rules w1thout consulting the
opinion of others’ is

(A) Democrat (B) Bureaucrat (-C) Autocrat (D) Fanatic

165. The teacher promised to __ a prize to the boy who stood first in the
class. : ' '
(A) reward: (B) award (C) promote (D) secure

166. Meaning of the idiom “To get into scrape’ is
(A) To get into a muddle : ElE
 (B) To find oneself in an awkward predicament %%1
(C). To get into irritating circumstances
(D) To be trapped in a conspiracy

167. ‘TfFEH’ d HE & | -

(A) wgitg (B) dcqRd (C) &8 (D) I=wdfvmE
168. ‘@’ S qiEETE R - S .

(A) s (B) IS (C) e (D) TW
169, ‘ﬁﬁﬁ'm% |

@) e @) T (©) FRem (D) W

170, “Siter 61 s 3 e e 9 TR €
(A) i (B) R (C) <@ (D) WATETH
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